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19 « Precipitation Reactions
STATION 1: SOLUBILITY & Kgp

The molar solubility of barium fluoride, BaF,, is 3.58 x 107 1L
How many grams will dissolve per 100 mL H,O?
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19 « Precipitation Reactions »
STATION 2: WILL A PRECIPITATE FORMT

Tron(I1I) hydroxide, Fe(OH)s, has a K, of 4.87 x 107
Write the equilibrium expression for the solubility of iron(I1I) hydroxide.
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500, ml of 4.1 x 107 M Fe(NO3); is added to 250. mL of 3.0 x 167 M NaOH.
Will a precipitate form? Show a calculation to justify your answer.
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STATION 3: COMMON ION EFFECT
What is the molar solubility of lead iodide, Pbl, in distilled water? K, = 9.8 x 107,
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‘What is the molar solubility of Pbl in a 0.10 M Nal?
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19 « Precipitation Reactions
STATION 4: SOLUBILITY RULES & pH DEPENDENCE

Cross out the substances below with high solubility.
Circle those compounds of low solubility that will dissolve better in 0.10 M HCI than in distilled water.
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